Iﬁ: é a @ Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuacio:
1,499 x 100000 = 4,978 x 100000 =
10, 346 x 100000 = 7,617 x 10000 =
5,618 x 10 = 7,48 x 1000 =
10, 694 x 1000000 = 9,408 x 1000000 =
4,871 x 100000 = 5,388 x 100000 =
8, 177 x 1000000 = 5,506 x 100 =
10,707 x 100 = 3,532 %10 =
7,865 x 10000 = 3,138 x 100 =
5,899 x 1000 = 4,024 x 100 =
6,142 x 10 = 5,724 x 100 =
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Multiplique decimais por poténcias de dez

Nome:

1,499 x 100000 = 149900

10, 346 x 100000 = 1034600

5,618 x 10 =56.18

10, 694 x 1000000 = 10694000

4,871 x 100000 = 487100

8, 177 x 1000000 = 8177000

10,707 x 100 = 1070.7

7,865 x 10000 = 78650

5,899 x 1000 = 5899

6,142 x 10 = 61.42

Encontro: Data: Pontuacao:

4,978 x 100000 = 497800

7,617 x 10000 = 76170

7,48 x 1000 = 7480

9,408 < 1000000 = 9408000

5, 388 x 100000 = 538800

5,506 x 100 = 550.6

3,532 x 10 =35.32

3,138 x 100 =313.8

4,024 x 100 = 402.4

5,724 x 100 = 572.4
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